System of Equations

Lesson 6

Problems Involving Systems of Equations

	Eg1.
A playoff football game drew 36500 fans.  Depending on seat location, the ticket prices were $35 and $20.  The total revenue from the ticket sales was $940000.  How many $35 tickets and how many $20 tickets were sold?




Let x be the $35 seats, 




and y be the $20 seats.




# of tickets:

x + y = 36500




total revenue:
35x + 20y = 940000




There are 14000 seats that cost $35, 




and 22500 seats that cost $20
	Eg2.
A tennis club charges an annual fee and an hourly fee for court time.  One year, a member played for 39 hour and paid $384.  Another member played for 51 hour and paid $456.  Determine the annual feel and the hourly fee.




Let a be the annual fee, 




and h be the hourly fee




For 1st member:

a + 39h = 384




For 2nd member:
a + 51h = 456




The annual fee is $150, 





and the hourly fee is $6.



	Eg3.
Miga and Sumi are to travel 125 km from GM Place to Whistler.  Miga travels half an hour by Greyhound to Lions Bay, and 45 min by the CN rail to Whistler.  Sumi travels for an hour and 15 min by Greyhound to Squamish, and half an hour by the CN rail to Whistler.  If the Greyhound buses are to travel at the same speed, and the train always travels at a constant speed, determine the average speed of both transportations.



Let b be the speed of the bus,



and t be the speed of the train




For Miga:

0.5b + 0.75t = 125




For Sumi:

1.25b + 0.5t = 125



The bus travels at 45.5 km/hr, and the train travels at 136.4 km/hr




	Eg4.
Kay invested $2100 in stocks.  She purchased Minerals at $7.50/share, and Energy at $3.25/share.  There are 450 shares in total.  How many shares of each stock did she buy?



Let M be the # of shares of Minerals



and E be the # of shares of Energy



# Shares:

M + E = 450



Earnings:

7.50M + 3.25E = 2100



Yasmin has 150 shares in Minerals, 



and 300 shares in Energy.


	Eg5.
Mary invested $2500, part at 8% per annum and the rest at 12% per annum.  In one year, the two parts earned equal amounts of interest.  How much did Mary invested at each rate?



Let A be the $ invested in A



and B be the $ invested in B



Total investment:
A + B = 2500



Interest Earned:

0.08A = 0.12B



Mary invested $1500 in A, 



and $1000 in B.


Challenge Problem:

Solve the following system.
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Practices:

# 1, 3, 6, 8, 10 - 12
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